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Part I: (12-points) Multiple Choice Questions (MCQ).
Encircle The Correct Answer

1. Which one of the lollowing statements is TRUE?
@ The product of two composite numbers is 2 composite number.
(b) The sum of two composite numbers is a composite number.
(c) The sum of two irrational numbers is an irrational number.
(d) The product of two irrational numbers is an irrational number.

2. The distance between the iwo points whose coordinates on 2 number line are —r and 3,

is equal to

(2)) 7+3

(b) |-7+3
(c) |m—3

(d) —(-7+3)

3. Which one of the following statements is TRUE for any real number z?

K
_IS -7

(b) V1627 = 4z
(¢) V{~2z)2= ~22
(d)  Vb4z® = 4|z

4. Ifi= /w1, then %0 4 ;51 ;52 _

_?:
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z+y = -yt

is egual to
z—y 714y 1= e

5. The expression

(b) 0

0
(¢) B
(d) =% —y*

6. A= %(E-{—r)y and y # 0, then B =

» 2A—x
e

A 4 2ry

(b) ”

2A — =
Y

(c)

1
(dy 24— 5%

7. The coefficient of zy® in the expression(3z — 2y)° is equal to

36

. (b) 36
{c) 18
(d) -12

© 8.:Which one of the following statements is FALSE?

2
, X
The equation f.: — = 4 has a real solution.
z # 3, then T3 ¢ -+ 3z + 9 is an identity.

{¢) The equation {3z — 5| = —& is a contradiction.

(d) The equation 5x + 7 = 3 is a conditional equation.
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Part II: Written Questions. )
{Provide necat and complete solution. Show necessary steps for full credit.]

1. (3-points) Given the sets

A= {zlz = —|z| + =, where z is zn integer with —4 < £ < 0},
and B ={zlz =2z ~2, where z is an integer with —3 £ z < 0}.

List the elements of the sets A, B, and AN B.

A*E-—é,_"f) ""‘2) 0]’ - ‘ Poﬁm{:-
B:?:-.S,_G,)_LI} oo 1 pPomt

ANE = E - 6, ..L-ITS eee | poimC

2. (2-points) Given the inequalily z < —Jor2 <z =6,

(2) Graph the given inequality on a number line:

| { +
- - - ....--I 1M
-5 Q\ iy [er

(b} Write the given inequality using interval notation.

(-, -5]U (2,6] - | point
3. (3 points) Simplify (37 — 5)(22% + 42 — 6). Write the result in standard form.
(3x-5) (2 49x -6) |
~ ax(axtyux-6) — 5(2x34 4 x-4) - | Poirl
X120 18X = [0X' =~ 20X 430 ~er | Poind

]

i

3 2
EX 42X _3%x 430 . e~ | poit
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4, (4-points) Given that 0 < x < %, write the expression lv’f — ; n ;}WE without abso-
lute value symbols and in the simplest form.
e :
e givewm expressim = |X- = l | PDM“'
fX- L 1
X & ‘ + IX'{‘ 3"\
A4
- (%- 4 ) i Poiad‘
(4L L
‘ (% g) + (X4 g)
- —-xX+ 4 .
- * cee Pom’l‘
-x4 Loy yxal
3
| .
- l ~Y X4} --- ,Pulﬂ+

. _ — 0y Y0y~ 19,33 -1/2
5. (4-points) Simplify [W} , where y # (. Write the result using positive
exponents only.

“The 3|‘V€M ey pressiom = [(” (\jﬁl) (2)(:’;)
-] 2 -4
2 (9°) (¥
R
= [Iélﬂ] T peint
-] -2
4 Y - o= | point

l
1Y

Y,
wen | Por it

It

-] PﬂfmTL

T -
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6. (a) (2-points) Factor 9z° — 24zy + 16y? — 10027
z T
Tee givew expression = (Zx-‘}:})ﬁ. (Io%) eee | Ppiul")
= (3x-4Y-lo2) (3x=4Y 4 102) =~ | Pointf

2 — 3 . . .
(b) (2-peints) Rationalize the pumerator £-—\~{-- . Write your answer in the sim-
V2Z+V/3 :
plest form.

NZ- V3 (T -v3) (VT +43)

| Pa}m‘,’

\J;-l-ﬁ (\,-i'+ ﬁ)'}_ |
- 2-3 - =1 eee | poidt
2+ 2VE +3 sy 26

7. (3-points) Simplify —3zV/54z4 + 2v/16x7. Write the result in the simplest form.

: : 33 6
e giea eppression = —3x \/ 3 g x:‘:x 42'923.7.-)(-.;(

- |Pm‘~f+

3
-“7:(2 \/2._;- + Y4 xzj\/zx

- oo | print
- —=5x 2y - !F'D;M{Z'

il
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8. (5-points) Simplify 2—;6_—1~ T 17:!? R i:% 5 Write the result in the simplest
form.
| Te givea egpression = - | (x-4) (x#1)
. ; ; _ I R
P 2 X1 (2x+1) (x=4) (x+3)
.. 2 poim‘ts
2¢-1 2 X4}
1 *
= 22X ¥ — XA o) Powt‘t
[2x-1) (2 x4)
1
_ 2x = X+l ) Pa;,,,-f-
(2x) (2 t41)

?
( Tz amswer 2X=X+1 10 Llss w:cﬂp*@d)
R ey

9. (4-points) Write the conjugate of the complex number in standard form.

1
(2+i2—8

[ | ‘ e | Paim+

——
—

il

L2+{)1-.‘§4: Hpqge -1 — g4 3-4H4
3 FL o) poiat
(3..%) (3‘+4/[) |

9416 2 T o T

The Cppy | 2 ,
Crgmgate of Rt L peit

25 ?—S -




